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o &AZYR F&X 20,000& x 5 x 85 8,500
o AAESHIRFA 80,000 * 7¥H = 5L 2,800
203 €2 F=&d| 3,000 3,000 0
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01 2L Y| 3,800 3,800 0]
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= 838,000
401 A& HIZ 201 Y| 838,000 838,000
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-JE2= 5,550 = 25kW » 12& 1,665
- A= 80& = 9,100kWh » 12& 8,736
o S3=s3HA LN 25 2ERZ
2,130& * 1502 + 128 384
401 AIEHI L 2 CHEI 10,000 10,000 0
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201 Yet2 | 166,740 166,740 0
01 At 22/l 1,728 1,728 0
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01 A& HI 5,316 5,316 0
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- dpteH™ 330 * 402 = 128 159
- slsH® 2,130& = 54 « 123 128
o EINERE=2 40,000& * 23| 80
o IE(HAX, HEY) RFUI
1,400& » 2,5004 3,500
o XNE(HAX, HEY) RA22]
2,000,000& =« 2CH 4,000
203 YR =&l 7,100 6,600 500
02 It =2 1,640 1,440 200
o A& AMIIEF A 40,0003 = 41 1,640

- 675 -




FA: H222elAtg A
Ha: gAY (ASSHL
el J1=22Yl )
= - — SHE]|
SA - =B (3H) - HHS e 2
04 2EA2EIRFA 5,460 5,160 300
< 309 =t
(400,000& + (5,000& = 1)) * 12€ 5,460
405 XHobF S HI 900 0 900
01 XL 2 ZFH S| 900 0 900
o Wty A 900,000& =« 1CH 900
Nes(HesdelAgl) 75,234 70,850 4,384
= 32,000
e 43,234
HEAHHK = 39,434 35,050 4,384
WEHHXI= 39,434 35,050 4,384
701 JIEtsl HSHES 39,434 35,050 4,384
01 JIEtSI HEES 39,434 35,050 4,384
o AT AIESEI 39,433,760 39,434
SHXNE 35,800 35,800 0
= 32,000
e 3,800
St=HMeld sXia & 35,800 35,800 0
= 32,000
e 3,800
311 X+ S0l A& & 1,000 1,000 0
03 ELFSXLS0IA 1,000 1,000 0
o St Kl Hel At Ol Kt &t &t
1,000, 000& 1,000
601 XL S A& & 34,800 34,800 0
= 32,000
s 2,800
03 =LA 34,800 34,800 0
o oStesdAMeANY B3 FS4E
00,000& = 4=D| 34,800
= 32,000
e 2,800
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